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LESSON 1B - LESSON 2A \

1. sipp 200 3.5 7 10, tsiriy o 2P0 08 #6030
hyp 12,57 25 T hyp 1347134 6
d 12 24 _adj _ 12 _120 60
14 g0 12 24 11. cosa=29__12 _120_60
i hyp 12.5 25 hyp 13.4 1324 7
s
15. tane-9PP _35 7 12, “taitg < 2BR L & 01
e ad 12" 04 adj 1272
16. sina=9PP_ 12 24 13. sing=SPP_13.6 136 _68
R ve 25 5% il 15 TS
di 3.5 7 adj 6. 64 32
17 -ad _35_7 14. cosg-294 _6.4_ 64 _32
O = hwp 125 "3z hyp ~ 15 ~150 ~ 75
18. tanq-9PP_12 _24 15. tanp-9PP _13.6 136 _17
BT P~ el it St
ino_OPP _ 4 16. sina=2PP_6.4_ 64 _32
19. sme—hyp—9 yp 15 35 5
_adj _85 17 17. cosa-23di _136 136 _68
20. cose_hyp_ 9 18 yp 15 150 75
_opp_ 4 8 18. tanq=°PP_ 6.4 64 8
21. b = ok “Tadj T136 713677
22. sino=9PP_8.5_17 19. sing-9PP_ X _1
e hyp 9 18 hyp 2x 2
23. COSCt=a5dJ=ﬂ 20. C059=LCU=LJ§=£
hyp 9 hyp  2X ~ 2
24, tana:%=%=:—7 21, tane=2PR 0 X i Taiy3
) adj X3 373

22, sing = 9PP _ X‘/§ 3
Lesson 1C hyp — 2x 2

; sin9=M=i=&=§ 23, c05a=%=§=%
’ hyp 12.8 128 3 -
2. coso-2di_ 10 _ 5 50 75 24. tana=LZF_)=%=\@
' hyp 12.8 6.4 " 64~3; adj
3. tang=SPP_38 _4
adj 10 5
p Lesson 2A
4. sing=9PP_ 10 _ 5 50 _25 g
hyp 128 6.4 64 3 1. 6249212 sin6=mz.5545
5. cosa-2di__8 _80 _5 36+81=H .
_opp _10_5 " '
6 tana ad] = 3 H=~10.82 tan8=§z.6667
opp 12 120 60
7 S'”B"Tp=m=ﬁ=§ csce=\'0é82z1.8033
d 6 60 30 10.82
8. cose=L=*=\=_ _10.82 _
hyp ~ 13.4 134 - secH 9 1.2022
9. tang-9PP_12 _, to =2 ~1.5000
n ad] 6 co 6 50
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